
Example of Feedback Query Model

W p(W|     )
security 0.0558
airport 0.0546

beverage 0.0488
alcohol 0.0474
bomb 0.0236

terrorist 0.0217
author 0.0206
license 0.0188
bond 0.0186

counter-terror 0.0173
terror 0.0142

newsnet 0.0129
attack 0.0124

operation 0.0121
headline 0.0121

Trec topic 412:  “airport security”

W p(W|    )
the 0.0405

security 0.0377
airport 0.0342

beverage 0.0305
alcohol 0.0304

to 0.0268
of 0.0241

and 0.0214
author 0.0156
bomb 0.0150

terrorist 0.0137
in 0.0135

license 0.0127
state 0.0127

by 0.0125

l=0.9 l=0.7
FqFq

Mixture model approach

Web database
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